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Question: 17

It is possible to make ten virtual servers available via two physical servers.

Select the correct answer.

A. True
B. False

Answer: A

Question: 18

A human working for a cloud consumer can access a virtual server to set up or maintain a cloud service that belongs to
the cloud consumer.

Select the correct answer.

A. True
B. False

Answer: A

Question: 19

The resource replication mechanism can encompass a hypervisor that can support the multitenancy cloud
characteristic.

Select the correct answer.

A. True
B. False

Answer: A

Question: 20

A ready-made environment must be hosted by and accessed via a virtual server.

Select the correct answer.

A. True



B. False

Answer: B

Question: 21

Which of the following cloud computing mechanisms are directly associated with the realization of the elasticity cloud
characteristic?

SELECT ALL THAT APPLY

A. virtual server
B. automated scaling listener
C. resource replication
D. pay-for-use monitor

Answer: A,B,C,D

Question: 22

Which of the following cloud computing mechanisms are directly associated with the realization of the multitenancy
cloud characteristic?

SELECT ALL THAT APPLY

A. automated scaling listener
B. failover system
C. resource replication
D. virtual server

Answer: A,C,D

Question: 23

Which of the following cloud computing mechanisms are directly associated with the realization of the resiliency
cloud characteristic?

SELECT ALL THAT APPLY

A. automated scaling listener
B. failover system
C. resource replication
D. state management database

Answer: A,B,C,D

Question: 24

Which of the following cloud computing mechanisms are directly associated with the realization of the on-demand
usage cloud characteristic?

SELECT ALL THAT APPLY



A. automated scaling listener
B. failover system
C. resource replication
D. pay-for-use monitor

Answer: A,D

Question: 25

Which of the following cloud computing mechanisms are directly associated with the realization of the measured
usage cloud characteristic?

Select the correct answer.

A. automated scaling listener
B. pay-for-use monitor
C. resource replication
D. state management database

Answer: B

Question: 26

Which of the following cloud computing mechanisms are directly associated with the realization of the ubiquitous
access cloud characteristic?

Select the correct answer.

A. failover System
B. multi-device broker
C. ready-made environment
D. virtual server

Answer: B

Question: 27

Which of the following cloud computing mechanisms is not directly associated with the realization of the resiliency
cloud characteristic?

Select the correct answer.

A. automated scaling listener
B. failover system
C. resource replication
D. state management database

Answer: A

Question: 28



The ___________________ mechanism is directly associated with the realization of the ubiquitous access cloud
characteristic.

Select the correct answer.

A. resource replication
B. state management database
C. multi-device broker
D. automated scaling listener

Answer: C

Question: 29

_______________________ is a form of dynamic routing whereby a cloud service consumer's request is redirected to
one of several redundant IT resources located on different clouds.

Select the correct answer.

A. Cloud balancing
B. Cloud bursting
C. Replication leveling
D. Virtual state caching

Answer: A

Question: 30

Two redundantly deployed cloud services need to be configured so that they are kept in sync with each other. Which
of the following roles would be most suitable for this task?

Select the correct answer.

A. cloud service consumer
B. cloud service owner
C. cloud resource administrator
D. None of the above.

Answer: C
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